baaka

Haiitu nporu6 Ay unu yros nosopota cedeHuss Ay 6ajlkHM B yKa3aHHOH TOUKe

3agaua M4.1. 333 3agaua M4.2. 333
P P
A l C B A LC B
L, MY P= 2 MY 2
3 )

2 1

P =9 kH, M =18 xHwm, Apc =7

P =15xH, M =15 kHwm, Apg =7

3agayua MA4.3. 333 3agaua M4.4. 333
P P
4 Ve 5, 4 be 5
£ Y A % 3
2 3 3 3

P =6 xH, M =24 xHwm, Ayc =7

3 1

P =5«kH, M =20 xHwm, Ayc =7
3agaua M4.5. 333 3amaua M4.6. 333
P P
A l C B A LC B
s e 2 i MY 5,
2 1

P =18 kH, M = 18 kHwm, App =7

2 1

P =9 xH, M =36 kHwm, Apc =7

P =15 kH, M =30 xkHwm, App =7

P =12 kH, M = 48 xHwm, Apc =7
3apmaua MA4.7. 333 3amaua M4.8. 333
P P
A /LC B A LC B
5 M7 =3 i 7 P2y
2 3

3agayua MA4.9.
P
A l C B
£ MY =3

2 1

P =9 «kH, M =18 xHwm, Aps =?

333

3agaua M4.10.

P
A C B
2 ‘MY P=3

2 1

P =9 kH, M =36 xHwm, Apc =7

333

3agaua M4.11.

y e
2, ‘MY

2 3

B
2
%

P =5«kH, M =10 xHwm, Ayc =7

333

Samaua M4.12.

A I
2 ‘MY
2 2

P =3 «kH, M =6 xHwm, Ayc =7

B
2
%

333




B
2 1

P =9 kH, M =36 xHwm, Ayc =7

3agaua M4.17.

P
A C B
£ i =3
1 1

P =06 kH, M =24 xHwm, Ayc =7

333

3agayua M4.13. 333 3agaua M4.14.
P P
A /LC B A LC B
A M7 -1 2 ‘MY 2,
2 1 3 1
P =9 kH, M =36 xHwm, Apc =7 P =4«xH, M =8 kHwm, Ayc =7
3agaua M4.15. 333 3amaua MA4.16. 333
P
4 be
2,

M
Y

lP
c

1
P =4xH, M =16 xHwm, Ayc =7

B
2
ez

3

3agaua M4.19.

3amaua M4.18.

4 Lc
£

i

B
2
7
2 1

P =9 kH, M =18 xHwm, Ayc =7

333

333

3agaua M4.20.

333
P P
WA be 5 4 e 5
£ 2, 2 MY 2,
2 2 2 2
P =12 xH, M =12 kHwm, Ap, =7 P =12 xH, M =12 kHwm, Ayc =7
3agayua M4.21. 333 3agaua M4.22. 333
P P
A LC B A /LC B
v i P2 A i 2
3 3 2 2
P =12 xH, M =12 xHwm, App =7 P =3kH, M =6 xkHwm, Ap, =7
3agaua MA4.23. 333 3agaua M4.24. 333
P
4 l ¢ M
2,

2

W=

1
P =9 kH, M =18 xHwm, Ayc =7

A

A

B
W B
2

1

P =9 kH, M =36 xHwm, Ayc =7




3agaua M4.25.

P
MA lc B
i 2
2 1

P =9 «kH, M =18 xHwm, Ayc =7

333

3agaua M4.26.

lP
A C B
. ~ M
A 7N
2 3

P =30 xH, M =30 xkHwm, Ap, =7

333

3agaua M4.27.

P

A B

2 M P
2 1

P =9 kH, M =18 xHwm, Ayc =7

333

3amaua M4.28.

P
- lc =Y,
A 3

2 3

P =15 kH, M =60 xkHwm, Apec =7

333

3agaua M4.29.

P

A C B

£ MY E=3
2 1

P =9 kH, M =36 xHwm, Ayc =7

333

3amaua M4.30.

P
A C B
A WA
3 1

P =4xkH, M =8 kHwm, Ayc =7

333




